Exam Code : Ad d a 2 *EK?D te :22-05-2019 Ver-

sion : 82 Exam Time :11:00-12:30

Question No. 1
What is the full form of SONAR?
A)Sound in Navy and In Receivers B)Sound Navigation and Ranging
C)Sound Not in Aircraft Range D)Sound Navigation and Receiving

SONAR #T qof ¥ & §?
A)TT1338 3o adT U8 37 R&Ea® (Sound in Navy and InB)@m3s afgated s ISET (Sound Navigation and

Receivers) Ranging)

C)ar3s dAlc 3 UTIH¥e o (Sound Not in AircraftD)am3s aAfasterss vs RAET (Sound Navigation and
Range) Receiving)

Answer Key : B Your Response : B (Correct)

Question No. 2

In a certain code, "ABC DEF' is written as 'ZYX WVU'. How would 'LOSS' be written in that code?
A)OLHH B)OWHH
C)OMHH D)OHLL

ws faffaa Fesmr #, 'ABC DEF' @t 'ZYX WVU' frar Sirar &1 3¥r gresmar 3 'LOSS' #r 3 frar smeam?

A)OLHH B)OWHH
C)OMHH D)OHLL
Answer Key : A Your Response : A (Correct)

Question No. 3

If x2 - 4x + 4b = 0 has two real solutions, find the value of 'b".
A)b =0 B)b < 1
C)b =+1, -1 D)b > 1

IR X2 -4x + 4b = 0 & & IRARS g & Y D' F A TFT fAfGw|

Ab =0 B)b < 1
C)b = +1, -1 D)b > 1
Answer Key : B Your Response : Not Answered

Question No. 4
Under which of the following conditions can we boil water at room temperature?
A)At atmospheric pressure B)At very high pressure

C)At low pressure D)At high pressure

AT & ¥ fFy R % 597 Fa & 99 W 96 39 a6a §7

A)TgHSNT ad | B)3rcafiis g9 W)
C)faest g W D)3=x & W
Answer Key : C Your Response : C (Correct)
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Anjali can complete a Job in 10 days. Banu can do it in 5 days. In how many days can the Job be done, if they

work together?
A)3.5 days B)7.5 days
C)6 days D)3 days 8 hours

3o o wF 10 e & oF aR welr §1 a7, 30 5 BT & qof = whar §1 AR & v 9 9 =A@ §
& 50 F Fr Praer Rat 3 qob R ST wepar §72

A)3.5 &t B)7.5 fea1
C)6 feat D)3 f&sT 8 ©e
Answer Key : D Your Response : D (Correct)

Question No. 6

What is the theme of 'World Water Day', 20197?
A)Leave no One Behind B)The Sun, the Earth and the Weather
C)Wetlands and Climate Change D)Forests and Education — Learn to Love Forests

‘AT St W, 2019, A Rwr-awg R 2

A)fRer &t 9% a1 sier B)gd, gedr 3R AtaA
C)3meef A 3R Sterarg aRac D)aet 3 Ret - @t & 97 FHew A
Answer Key : A Your Response : Not Answered

Question No. 7

With which sport was Arthur Pereira associated?

A)Volley ball B)Tennis

C)Basket ball D)Football

IR N FE A9 ¥ daftra A7

A)afeater B)cfra

C)arEhedrel D)gedrd

Answer Key : D Your Response : Not Answered

Question No. 8
The time period between a full moon and the next full moon is slightly longer than how many days?
A)31 days B)28 days
C)29.5 days D)26 days

v QT AR S T (T & der 4 Jrafty Recet R 3 o s gl 87

A)31 &t B)28 fea
C)29.5 fea D)26 &t
Answer Key : C Your Response : Not Answered

Question No. 9

If the object is placed between infinity and optical centre O of the concave lens, how will the image be formed

after refraction?
A)Diminished B)Point size
C)Of same size D)Enlarged
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IR awg Fr I IR BRI IEae oW F 3w dex O F & @ S §, o e & A wiaRe ST

TAm?

A)TRad (Bier) B)feig & 3R a1

C)THTST 3R T D)3mafeic

Answer Key : A Your Response : A (Correct)

Question No. 10
If 'Water' Is called 'Food', 'Food' is called Tree', Tree' is called "Sky', 'Sky’' is called 'Well' and 'Well' is called
'Pond', which of the following would provide us fruits?
A)Well B)Food
C)Sky D)Tree

AR S B OSSR, WS WG, TR OAGR, HERC FOFI AR FE R A Fr ST §, ar

fArfafaT 7 & e &1 ‘oo’ Freem?

A)F3T B) it

C) 3T D)gef

Answer Key : C Your Response : C (Correct)

Question No. 11

. . in . mw . 3m . BT
Find the value of sin v sin 1 sin — sin —.

1/16 1/8

3/16 1/4

. im . m . 3m . bm .
sin I sin E sin I sin I FT AT AT FII

1/16 1/8

3/16 1/4

SSC A’QQQ’%&Z Your Response : D (Correcgngineers Adda®47


https://www.sscadda.com/
https://www.adda247.com/engineering-jobs/?_gl=1*1k0pe5f*_ga*YW1wLUVJYUpUVmV6MGZYVWtQMDRTcTBkX094SGlIN1I3NGJrXzBNeERUVXo0UGppVVR5SUhzaGtMM3JGTEwwSjZnMGU.

Question No. 12

The radius of a circular wheel is 7/4 m. How many revolutions does the wheel make to cover 22 km?
A)1000 B)2000
C)100 D)4000

TF JealeR 9iRe Hr ST 7/4 e § 9RAr 22 freadier fr qft a7 7 7 Pra 99 gEer 87

A)1000 B)2000
C)100 D)4000
Answer Key : B Your Response : B (Correct)

Question No. 13

Which number will best complete the relationship given below?

12:30::20:7
A)42 B)25
C)32 D)35

T @ FEw A R av dey 7 wafeaw v F qof w9

12:30:20: 7

A)42 B)25

C)32 D)35

Answer Key : A Your Response : Not Answered

Question No. 14

In the following question, correct the equation by interchanging the two signs.

7+10+5-5=10
A)+ and - B)+ and =
C)+ and - D)+ and +

fmfaf@a e % , of Rsgh #r o 7 sEest FehaRor F @@ =

7+10+5-5=10

A)+ 3R - B)+ 3R =
C)+ 3R - D)+ 3R +
Answer Key : C Your Response : C (Correct)

Question No. 15
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Complete the series.

9,5.5,7.5, 19, 84, (...)

A)652 B)621

C)688 D)695

Aofr @ ot #¥

9, 5.5, 7.5, 19, 84, (.)

A)652 B)621

C)688 D)695

Answer Key : C Your Response : Not Answered

Question No. 16

Which of the following is India’s First Integrated Green Field Smart City?
A)Chennai, Tamil Nadu B)Bengaluru, Karnataka
C)Atal Nagar, Chhattisgarh D)Bhopal, Madhya Pradesh

frfafd F & i & ara $r gl vhiga N ez FE /S §2

A)deTs, dffiereg B)SaTe[e, sheilceh
C)3cd AR, TG D)#IITel, FET Yc2r
Answer Key : C Your Response : Not Answered

Question No. 17

Find the ODD one out from the given options.

A)F B)H

C)N D)U

R a1¢ Reedt ¥ IR

A)F B)H

C)N D)U

Answer Key : D Your Response : D (Correct)

Question No. 18

Which of the following is the strongest material on earth?
A)Carbyne B)Aerographene
C)Aerographite D)Soap stone

@ # & #ia i W Fad FORaH ward ¥

INESEIES] B) WYaImthat
C)WIA%IET D)&IT Tl
Answer Key : A Your Response : Not Answered
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Rajan got married 8 years back. His age then was 5/6 of his present age. His sister was 10 years younger at
the time of his marriage. How old is she now?

A)40 B)32

C)38 D)26

TSt T WY 8 A Uger g8 ANl A IHFr Y, 3R FAAA HY HFr 5/6 Arl 3R WA F FHY A /A
#r I 3X 10 af Fo7 Ar| Tt A TR I Fraedr 82

A)40 B)32
C)38 D)26
Answer Key : C Your Response : C (Correct)

Question No. 20

If x=3-+2, thenfind the value of 3x* + 2x — 4.

C) D)

35-20+/2 35-2+/2

Ife x=3-2, dr 3x° + 2x— 4 & AT A1 F|

A) B)
20-+2 35+2
C) D)
35-20/2 35-2+/2
Answer Key : C Your Response : Not Answered

Question No. 21

Decimal part of any number is always .

A)<0 B)>2
C)<1 D)>1
SSC Adda247 Engineers Addaa47
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A)<0 B)>2
C)<1 D)>1

Answer Key : C Your Response : C (Correct)

Question No. 22

Complete the series.

125, 169, 25, 13, 5, (...)

A1 B)2

C)3 D)0

Fofr @ ot &Y

125, 169, 25, 13, 5, (.)

A1 B)2

C)3 D)0

Answer Key : A Your Response : A (Correct)

Question No. 23
A clock is set to the right time at 4:00 AM on Thursday. If it gains 20 seconds in every 3 hours, then what is
the time shown on the clock at 8:30 PM on Friday night?
A)8 hours 34 minutes PM B)9 hours 34 minutes PM
C)8 hours 34 minutes 30 seconds PM D)8 hours 30 minutes 30 seconds PM

U N F I[EAR B W 4:00 T T FAY W J AT SO §) A I§ o0 9AF 3 " H 20 ehE 99
e 8, o EFAR W 8:30 w9 sW ud #F e wHT gem?

A)8 ST 34 fAde ag B)9 st 34 A= @
C)8 st 34 fHeic 30 Tshs I D)8 s=iex 30 fAeic 30 T&hs I
Answer Key : C Your Response : Not Answered

Question No. 24
70% of the employees in a firm are men. 30% of men and 20% of women employees opt for voluntary
retirement. What is the percentage of the total number of employees continue in service?
A)70% B)27%
C)73% D)30%

TH B H 70% FAGR T §1 30% TO¥ 3R 20% ARer FHAARr WiRow dafagfer & RAFeT g §1 dar
# T R a TGt fr T, For HeAr H frcer wfowr #7?

A)70% B)27%
C)73% D)30%
Answer Key : C Your Response : C (Correct)

Question No. 25
Rahul starts walking towards west. After a while, he tums left and then to his right. Again he turns left and
SSC Atbkel #zightt How many times did he tum towards south? Engineers Addaa47
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C)Four turns D)One turn

gl AR i 3 Toer Y& Fr § A K a0, TF a8 A 5w § A Y 3o A A gwew &1 A
TE ¢ AR T § AR B 2 IR 3 1 7@ Tl IR ST A AR T §7

A)ar s B)d= SR
C)duR ar” D)T&F ax
Answer Key : A Your Response : A (Correct)

Question No. 26
Which of these substances is present in tobacco?

A)Caffeine B)Hashish

C)Nicotine D)Morphine

s @ Pl W vq dargy # Hleg o 7

A)Fhr B)gafrer

C)ferepréret D)ATHT

Answer Key : C Your Response : C (Correct)

Question No. 27
What is the difference between the largest and the smallest fractions among 2/3, 3/4, 4/5 and 5/67?
A)3/5 B)1/7
C)1/6 D)2/5

2/3, 3/4, 4/5 3R 5/6 # ¥ FaN o IR X A B F KW AT AW

A)3/5 B)1/7
C)1/6 D)2/5
Answer Key : C Your Response : C (Correct)

Question No. 28

Find the smallest among these fractions.

1/2, 3/5, 27, 5/6
A)3/5 B)5/6
C)2/7 D)1/2

fafRd & ¥ e o fe :r 7 Al

12, 3/5, 217, 5/6

A)3/5 B)5/6

C)2/7 D)1/2

Answer Key : C Your Response : C (Correct)

Question No. 29
Which of the following states is associated with the classical dance, Odissi?

A)Madhya Pradesh B)Odisha
C)Bihar D)Kerala
SSC ATFILDR Fier 1 T el el Sl A Heferer 82 Engineers Addag47
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C)fSgrR D)ol

Answer Key : B Your Response : B (Correct)

Question No. 30
The Constitution of India is republic, because it-
A)Provides for adult franchise B)Contains a bill of rights

C)Has no hereditary elements D)Provides for an elected Parliament

AR F HiRAYR IR §, wife-
A)SHH TITH AAIMUSR HI G Yld fohar a7 g1 B)3HH U 8RR A9aes enfaer foar s=r g
C)gH#H IS aRAGIITd Teeh el ¢ D)za# faId Tde &1 IIae Yerid fhar I/ gl

Answer Key : C Your Response : Not Answered

Question No. 31
How much profit is got by selling goods at Rs.405 at a profit of 12.5%?
A)Rs.40 B)Rs.45
C)Rs.51 D)Rs.36

Rl TFg Fr 12.5% F A7 W 5. 405 & IT@ W e am wre Feme

A)T.40 B)%.45
C)%.51 D)%.36
Answer Key : B Your Response : B (Correct)

Question No. 32
A watch is sold at 5% loss. If the cost price had been 20% more and selling price Rs.115 less, there would
have been 40% loss. What is the cost price?
A)Rs.550 B)Rs.500
C)Rs.450 D)Rs.520

wF g9 5% FIfA W &N S 1 IR T {eT 20% 30 Few AR BT Hqew .15 FA e, o 39 Eh
# 40% #r gifer BNl 7 H{ew AT Ao

A)E. 550 B)%. 500
C)%. 450 D)%. 520
Answer Key : B Your Response : B (Correct)

Question No. 33
A compound has the molecular formula C2HgO. The name of the compound is-
A)Ethanol B)Both dimethyl ether and ethanol
C)Ethanoic acid D)Dimethyl ether

& AAF F H] GI CoHeO ¥ AT #r A Fazvl

A)zdater B)ssfause $ AR s¥atar a=r
C)s¥is® 3Fal D)srsfRuTse $2
Answer Key : B Your Response : A (Wrong)

Question No. 34
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Which of the following options will best complete the relationship given below?

2(101)5
8(246)3
3(7?2)7
A)132 B)213
C)123 D)231

fefafla & ¥ Fi W Reer MY Re v Fau #r g&fcmt & F oF Fome
2(101)5
8(246)3

327?77
A)132 B)213
C)123 D)231

Answer Key : B Your Response : B (Correct)

Question No. 35

Find the Compound Interest on a sum of Rs.1000 at the rate of 10% per annum for 1.5 years when interest is

compounded half-yearly.
A)Rs.157.63 B)Rs.167.36
C)Rs.160.55 D)Rs.150.25

%.1000 Fr SR W 10% AF =T X A 1.5 9§ & U A 0T W, I AT Hr T0ET AT-afw

T MR R A S R

A)%¥.157.63 B)%.167.36

C)%.160.55 D)%.150.25

Answer Key : A Your Response : A (Correct)

Question No. 36
Bala is facing west and moves forward; then he turns 45° to his left. Which direction is he facing now?
A)North west B)North east
C)South east D)South west

e 9fReeT A IR HE A I ager § AR aF I A AR 45° gEar ¥ i 7w R R F oF AR e

4

A)3ca] giTH B)3ck qd

C)afaror qa D)aferor uiRers

Answer Key : D Your Response : D (Correct)

Question No. 37
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Choose the altermative that best replaces the question mark(?) in the

given figure.
32 | 85| 64
o |13 | 10
1 3 ?
6 | 40 | 24
A) B) ,,
6
C) D) 4

=1

WRFT T oo &, A IFT FIT B () F 7 W@
e & o wafeas sagea &

32| 8 | 64
o | 13 | 10
1 3 ?
6 | 40 | 24
A) B) 5
6
C) D) 4
7
Answer Key : B Your Response : B (Correct)
Question No. 38
is the richest source of Vitamin-C.
A)Lemon B)Milk
C)Pulses D)Red meat
ferfe-C #1 wad wog Wi ¥
INGIES B)gur
C)arer D)3 #rc
Answer Key : A Your Response : A (Correct)

Question No. 39
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Read the following information carefully and answer the question given below.

PQR,S,TU,VandW are playing a game standing in a circle facing outwards. R is neither the neighbour
of P nor V. S is the neighbour of P but not of W. T is the neighbour of W and is third to the right of U. Q is the
neighbour of U and fourth to the left of S.

Who among the following stands between S and T?

A)Q B)P
C)R D)W

Pl SRl #F eaer & 9¢ 3R A e a1e et @1 3w &1

PQRSTUVIRW IMTAINFFRF E TS I IR T IR & A7 da @ §1 R, T ar
PHFIRAOT VI I G S,PF T A @ afaWFail TWFmedaik U Fad
IR UARETE Q, UF T & 3k S F a1 3R 9l vt @ @zr #

RRTAIFTT SR THFdaF a7

A)Q B)P
C)R D)W
Answer Key : C Your Response : C (Correct)

Question No. 40
When is 'National Energy Conservation Day' observed?

A)02 October B)06 October

C)14 December D)12 November

TSI Folt WEIT Raw' @ AT Sier &7

A)2 3SR B)6 3ieceR

C)14 feaFex D)12 saFs¥

Answer Key : C Your Response : Not Answered

Question No. 41

Which of these is NOT a joint?

A)Neck B)Ankle

C)Knee D)EIlbow

&T q Pl @1 v Sig A {7

AT B)e@aTT

C)gear D)arg=tt

Answer Key : A Your Response : A (Correct)

Question No. 42

The electrons present in the of an atom are known as the valence electrons.
A)Outermost shell B)Second shell

SSC AddasY D)Penultimate shel Engineers Addag47
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it o] & ¥ g soElEr B AN Foagr & 9 F S ST §

A)aTEIdH rer B)a}:\:rl' rer
C)ugel I D)aredcd & dgel el
Answer Key : A Your Response : A (Correct)

Question No. 43
Which of the following creatures does NOT usually lay eggs in its own nest?
A)Sparrow B)Cuckoo
C)Parrot D)Pigeon

Arfaf@a & ¥ Fia ar wolt 3mRdk 91 3er e & 32 € &ar §7?

INEiE B) et
C)drar D)X
Answer Key : B Your Response : Not Answered

Question No. 44
Find the value of sin 120° sin 240° sin 270°.
A)1/8 B)-1/8
C)-1/2 D)3/4

sin 120° sin 240° sin 270° F AR AT AT

A)1/8 B)-1/8
C)-1/2 D)3/4
Answer Key : D Your Response : D (Correct)

Question No. 45
Silver article tumns black when kept in the open for a few days due to formation of-

A)AgS B)H4S

C)AgSO4 D)Ag,S

T6 @l 7 g % @ I | 91 A T wqge ¥ aoia Fr goE A FrOw & e
A)AgS B)H4S

C)AgSOy4 D)Ag,S

Answer Key : D Your Response : D (Correct)

Question No. 46
Ratio of the volumes of a sphere of radius 'r" and a cylinder of radius 'r' and height "2r' is:
A)3:2 B)2:3
C)3:5 D)5: 4

BT v arer v A aur PSR T vE SIS 20 arer # U AT & I B Ul AT Ao

A)3 ;2 B)2 : 3
C)3:5 D)5: 4
Answer Key : B Your Response : B (Correct)

Question No. 47
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Read the following information carefully and answer the question given below.

Ten friends are sitting in two parallel rows of six seats each. One seat is vacant in each row. M, N, O, P and Q
are sitting in row-1 facing south. D, E, F, G and H are facing north. Each likes different brand of shirts—Otto,
Wrangler, Cherokee, Lee, Van Heusan, Derby, Ruggers, Allen Solly, Peter England and Raymond.

G sits third to the right of F and likes Lee. Only two people sit between E and the vacant seat. E does not like
Van Heusan or Cherokee. Q is not an immediate neighbour of O. N likes Raymond. The one who likes
Cherokee faces the one who likes Allen Solly. The one who likes Cherokee sits opposite to the one who sits
on the third right of the person who sits opposite to G. O is not an immediate neighbour of P. H, who likes
neither Van Heusan nor Derby, does not face the vacant seat. Neither G nor F sits at any of the extreme ends
of the rows. P faces F. Vacant seats are not opposite to each other. Two seats are there between O and N,
and N sits on the third right of the one who likes Ruggers. The one who likes Peter England faces the one
who likes Lee. The persons who like Otto and Allen Solly are adjacent to each other. Vacant seat of row — 1 is
not an immediate neighbour of P. E sits at one of the extreme ends of the row. F does not like Otto and Allen
Solly. Vacant seat of row-1 does not face G who does not sit at any of the extreme ends of the row.

How many people will sit between vacant seat and E?
A)Two B)Five
C)Four D)Three

el SR #F eaer § 9¢ 3R A e 91w et @1 3w &1

&9 AT o Wl areh &Y FAER dfeaat #%F &8 & 9« 9T F v die @ §1 M, N, O, P 3k Q dfda
-1 3 o #r 3R g AT IS &1 D, E, F, G 3R H 31 #r 3R A5 Bl 88 &1 7% 91 Rt sz
3, Gorer, W, o, T gA, oM, WA, v Wel, NeX $ods AR Wi F o€ wg §1 G, F F gd IR
W T W § AR N wiz Wig AT §) E AR @eh M & @iw Fad Q@ o1 38 § E F a9 @ @
R sz g A4 §1 Q, O F1 PFcan wPRA & §1 N Fr Wiz 7z wig & 3 R 7z Wg War ¢ 7@
T W T GHG T A F A dor ¥ S R 75 A g WA § I§ G F A A g AT F
oTd E ey T W A5 AT & A do1 §1 O, P F Fweaw SRl aft ¥1H, St ar o aeT g ik
a1 & =dt iz B Wig Fr §, W W A IR F TS T o1 A O G AR T & F iFT F AR s or
W A8 35 §1 P, F & W 30T §1 Wrelr WE vwg@y & A WA o §1 & WE 0 IR N & fiw 7 §,
IR N, TR oz A g T a F g IR I T R dor ¥ S e FdE 7iE B Wig WA E q@ A
A5 g N a F FAY 3o 1 O AR Fr 30 AR o Wl iz Wig E ¥ vHgw § SF ww #
& &1 dRF- 1 fr @elr We, P Y fAweas TRl € ¥1 E BRI w9 & Rl 8 T 39T §1 F @ e
AR wor W wiE g A€ 1 G, S 9fFT F BT o e o a dor &, 9T -1 A @l ¥ 3uF 9

& #
@rer @i AR E & &g e @t 85 §2
Ayar B)dT=
SSC Adeia247 D)t Engineers Addaa47
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Question No. 48

Evaluate: 1299 x 1299
A)1687401 B)1683701
C)1685701 D)1538501

g ffae 1299 x 1299

A) 1687401 B) 1683701
C)1685701 D)1538501
Answer Key : A Your Response : A (Correct)

Question No. 49
Which of the following is an eye disorder?
A)Jaundice B)Sinus
C)Arthritis D)Myopia

fefaf@a 3 @ Fi7 wr e 7 vw BEw §?

A)diferar B)drgd
C)arfear D)fae e QW
Answer Key : D Your Response : D (Correct)

Question No. 50
Up to which element was the law of octaves found to be applicable?

A)Potassium B)Calcium

C)Cobalt D)Oxygen

e 9 @& 3w e o) dar 87

A)arerga B) shferrae

C)FlaTee D)3itereistet

Answer Key : B Your Response : B (Correct)

Question No. 51
In a bag, there are coins of 25 paise, 10 paise and 5 paise in the ratio of 1 : 2 : 3. If there are Rs.30 in all, how
many 5 paise coins are there?
A)150 B)50
C)100 D)200

THEATH, B, ORISR FRFF1:2: 35 F 8 IR I ¥ o e 530 § A 5

4 & fraer T &2

A)150 B)50

C)100 D)200

Answer Key : A Your Response : A (Correct)

Question No. 52
The force of attraction between two objects of masses "M’ and 'm' which lie at a distance 'd’ from each other is

directly proportional to the-
A)Sum of the masses of objects M + m B)Product of the masses of objects M x m
C)Difference between masses of objects M - m D)Sum of the squares of masses of objects M? + m?

SSC Adda247 Engineers Addaa47
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T g ¥ d g W Rua, M 3R m gemeeT arelr o aegeit & d o arer 3o e ¥
g g ¥

A)TEG3T & geFHATEAT HT AT M + m B)aEq3it & gegAml &I JUEHT M x m
C)aEg3it & geadAE & HR M - m D)aE3it & geaAwE & Fuif & AT M2 + m?
Answer Key : B Your Response : B (Correct)

Question No. 53

Which of the following has a higher electric resistance?

A 100 Q, 80 Q bulb or 60 Q bulb?

A)60 Q B)100 Q

C)80 Q D)AIl have the same resistance
fawT % & e Rgga iy 3o 7

100 Q, 80 Q &= AT 60 Q Four?

A)60 Q B)100 Q

C)80 Q D)@Y &T IieRIg FAT gl
Answer Key : B Your Response : B (Correct)

Question No. 54
A bus leaves Agra at 5 AM and reaches Delhi at 12 noon. Another bus leaves Delhi at 8 AM and reaches
Agra at 3 PM. At what time do they meet?
A)1:30 PM B)10 AM
C)11:30 AM D)9:30 AM

UF T YA 5 T PRI F @l Bl IR Qe 12 o7 ool wgueh #1 o AR a9 gaw 8 w9 Reehr &
TareT Bl & 3R 3 wor ImRT wgaeh ¥ A By wET Reh §2

A)1:30 §31 gagR B)10§@f§a€
C)11:30 &or gse D)9:30 st gsg
Answer Key : B Your Response : B (Correct)

Question No. 55
Which Mughal Emperor founded Fatehpur Sikri as his capital city?
A)Aurangzeb B)Babur
C)Akbar D)Humayun

T T[T JAE A B WHY N ATl IS FAr?

A) AR B)aTex
C) 3T D)gAr
Answer Key : C Your Response : C (Correct)

Question No. 56

SSC Adda247 Engineers Addaa47
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How many triangles are there in the given figure?

A) B)

8 10
C) 6 D) 5
& s Fgla 7 e T €2
A) B)

8 10
C) D)

[s7]
w1

Answer Key : B Your Response : B (Correct)

Question No. 57

Speed of a boat in still water is 13 km/h. Speed of water current is 4 km/h. In what time can the boat cover 68

km upstream?
A)8 hours B)7 hours 33 minutes
C)4 hours D)7 hours

R 5o 3% v v arer 13 Bl / der ¥ uRr A a4 Rl / der §1 aRr & Rodia 68 Rl fr gl

T T H AT R AT w@em?

A)8 e B)7 g¢ 33 e

C)4 && D)7 €&

Answer Key : B Your Response : B (Correct)

Question No. 58
What is the name of the scheme proposed by the HRD Ministry to track academic performance of school
children across the country?

SSC Ailta2¢ffgrmers B)Pradarshan Engineers Addaa47
C)Achievers D)Shaala ASMITA
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R 3 7 Fpelr T2 F A0 Yo¥ild W Ao T F AT HRD HATeRr @RT SRfae Asielr & A1H 4T §?

A RBIHT B) g el
C)3rday D)eITelT 37REAAT
Answer Key : D Your Response : B (Wrong)

Question No. 59

If23@47$22=48and34 @ 18$ 13=39,then 12@43$ 14="7

A)35
C)41

B)29
D)31

IR 2B @47$22=483R34@18$13 =30, A 12@43 $ 14 = ?

A)35
C)41
Answer Key : C

B)29
D)31

Your Response : C (Correct)

Question No. 60

Find the ODD one out from the given options.

A)153 B)317
C)137 D)731
Rw 1w Rwedt # ¥ T A

A)153 B)317
C)137 D)731

Answer Key : A

Your Response : A (Correct)

Question No. 61

Complete the series.

48, 24, 72, 36, 108, (...)

A)73 B)54
C)52 D)67
Aoft 1 qot +

48, 24, 72, 36, 108, (.)

A)73 B)54
C)52 D)67

Answer Key : B

Your Response : Not Answered

Question No. 62

How many atoms does a molecule of oxygen contain?

A)3 B)4
C)2 D)5
SSC Adda247

ST & vF Ho] F R A B §?
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A)3 B)4
C)2 D)5

Answer Key : C Your Response : C (Correct)

Question No. 63

The Simple Interest on some amount of money for 2 years is Rs.400. If 'r' is 4% more, then the Simple
Interest will be Rs.400 more. What is the original amount of money?

A)Rs.4000 B)Rs.12000

C)Rs.10000 D)Rs.5000

T TR W 2 9§ FT WYUROT 4T $.400 &1 IR 7, 4% 310F a1, o AURYT =T $.400 30F Aan 978

He TRy el #7

A)%.4000 B)%.12000

C)%.10000 D)%.5000

Answer Key : D Your Response : C (Wrong)

Question No. 64
Find the smallest integer whose cube is equal to itself.
A)1 B)0
C)-1 D)2

Ha¥ BYer Piis AT R e o Fa & [ §

A)1 B)0
C)-1 D)2
Answer Key : C Your Response : C (Correct)

Question No. 65
Which of the following Indian Presidents served the longest in office?
A)Dr. S. Radhakrishnan B)Dr. Shankar Dayal Sharma
C)R. Venkatraman D)Dr. Rajendra Prasad

Afaad # ¥ v AR Tgufd FT FRFIA Fad T W|I?

A)SL. S. TS B)ST. Qe gaTel AT
C)R. deheXHIT D)3l. Ielg 9aTG
Answer Key : D Your Response : Not Answered

Question No. 66

Which of the following countries in April has sent a team of climbers up Mount Everest to remeasure its

height?
A)Nepal B)India
C)Russia D)China

farfaf@a &% @ e O F AT Tl A S5 F AERT A9 & fAT e ¥ 9 IdaREr g Fr AST

T W AT §7
A)SqTer B)#IRd
c)xH D)=t
Answer Key : A Your Response : Not Answered
SSC Adda247 Engineers Addaa47

Question No. 67


https://www.sscadda.com/
https://www.adda247.com/engineering-jobs/?_gl=1*1k0pe5f*_ga*YW1wLUVJYUpUVmV6MGZYVWtQMDRTcTBkX094SGlIN1I3NGJrXzBNeERUVXo0UGppVVR5SUhzaGtMM3JGTEwwSjZnMGU.

The rolling of thunder occurs due to-
A)Single reflection of sound from a very big cloud B)Successive reflections of sound from a number of

reflecting surfaces such as clouds and land

C)Heavy rains pass the sound very fast D)Supersonic aircraft passing through cloud

TEEE HroEsr _ Fr 3ow A Il §

A)TF SEd 3 deel § afd & Toh IR race B)tafd & aigall iR fA W #$ wWads g ¥
HiAS ade

C)HY asft & Rier eafer sga aoll & el & D)sTee & I[oRd Gl e faareT

Answer Key : B ) Your Response : B (Correct)

Question No. 68

Complete the series.

1,2, 6, 24, 120, (...)

A)720 B)711

C)715 D)725

Fofr @ ot &Y

1, 2, 6, 24, 120, (.)

A)720 B)711

C)715 D)725

Answer Key : A Your Response : A (Correct)

Question No. 69
Who discovered that mosquitoes spread malaria?
A)Sir Ronald Ross B)Sir Issac Newton
C)Michael S Brown D)Homi Bhabha

30 a1 4 | e fr B FeT, FaRar S 2

A)IR UATes [T B)®X 3MSoteh #ge+T
C)AS®hd S §3aT D)gIT sarerT
Answer Key : A Your Response : Not Answered

Question No. 70

How is food energy measured?

A)Metre B)Kilowatt

C)Calories D)Kilogram

s #r Ft Fr T AT Ser 82

A)HIeX B) fereltare

C)hary D)ferettama

Answer Key : C Your Response : C (Correct)

Question No. 71
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Complete the series.

C,H, MR, (..

A)X B)Y

C)W D)V

Foft @ ot #¥

C,H, MR, (.)

A)X B)Y

C)W D)V

Answer Key : C Your Response : C (Correct)

Question No. 72

Solder is an alloy of-

A)Lead and tin B)lron and lead

C)Copper and tin D)Copper and aluminium
West @ g ¥

A)eg 3R e B)cler 3R @3

C)dier 3R e D)diaT 3R TogHifeasH

Answer Key : A Your Response : A (Correct)

Question No. 73
What are the LCM and HCF of the reciprocals of 18 and 24?
A)72,6 B)1/72, 1/6
C)1/6, 1/72 D)1/6, 1/4

18 3R 24 & =gpAT & F.A.T (LCM) 3R A.H.T (HCF) 7ia RSl

A)72, 6 B)1/72, 1/6
C)1/6, 1/72 D)1/6, 1/4
Answer Key : C Your Response : C (Correct)

Question No. 74

When two or more resistances are connected between the same two points, they are said to be connected in-

A)Across B)Series

C)Parallel D)Line

S &Y a1 & ¥ e gl A v W o Rigst F dw SerSmar §, A A # 3 A
A) IR-IR B)Aof

C)THAATR D)ersaT

Answer Key : C Your Response : C (Correct)

Question No. 75
The substance that is usually lost by the body during dehydration is-
A)Sodium chloride B)Sugar
C)Potassium chloride D)Calcium Phosphate

SSC Adda247 Engineers Addaa47
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freieleRor & SR FHT: AR & T @ arer garet FieT 9T &2

A)AIfsad FaREs B) QT
C)ar iz FeiRTss D)FoRMIH BiEhe
Answer Key : A Your Response : A (Correct)

Question No. 76
In which sport was Raghunandan Gokhale the first person to win the Dronacharya Award?
A)Badminton B)Chess
C)Table-Tennis D)Kabaddi

YYH GO GRFR Rk, (g e Ry & & Wt 47

A)dsfiea B) eTeR<t
C)eder cfad D)ETES]
Answer Key : B Your Response : Not Answered

Question No. 77

If P, Q and R can complete a job in 24, 16 and 12 days respectively, how long will they take to complete the

job working together?
A)6 days B)5 days 8 hours
C)5 days 12 hours D)5 days

X P, Q 3R R, Rl &7 #r For: 24, 16 3R 12 Ret & qu = v § @ 38 v PR 3@ 71 A

[ IR & Tt W Fawm?

A)6 &t B)5 f&eT 8 &¢

C)5 f&oT 12 = D)5 &t

Answer Key : B Your Response : B (Correct)

Question No. 78

Find the ODD one out from the given options.

A)4283 : 8432 B)7319: 1793

C)3152 : 5321 D)1975 : 1579

R a1 fwet ¥ A IR B P

A)4283 : 8432 B)7319 : 1793

C)3152 : 5321 D)1975 : 1579

Answer Key : D Your Response : D (Correct)

Question No. 79

The underground water due to the hot rocks present inside the Earth which can tum the
turbines of generator to produce electricity.

A)Turns to ice B)Turns to steam at high pressure

C)Cools down D)Flows out

T & et A T et & FROT e S T IRIT FEF TR F TaHT
farelr Yer #$r ST | ¥
A)S% H S 1T gl B)3Td gId W HIT H sl ST gl

C)3sr & gl D)sget gl :
SSC Adﬁ@gﬁ o £ngineers Addag47
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Question No. 80

Which of the following elements is known as the eka-boron?
A)Silicon B)Gallium
C)Aluminium D)Scandium

FRf@d & ¥ FT 9T Y TH-EA F 9 7 JIeT 1T §?

A) faforpia B) o
C)uega s D)EHETH
Answer Key : D Your Response : D (Correct)

Question No. 81
Which of the following types of medicines is used for treating indigestion?
A)Antacid B)Antiseptic
C)Analgesic D)Antibiotic

ARfRd & ¥ Fa R i qaEit # 1 39T 3aT F a9 ¥ Qv fFar S 3

A) e B)iraiftes
C)UsTeat Tieh D)udereH
Answer Key : A Your Response : A (Correct)

Question No. 82

Complete the series.

BS, GT, KA, PN, (...)

A)AP B)HO
C)HI D)TD

Aoft Fr ot #¥

BS, GT, KA, PN, (.)

A)AP B)HO

C)HI D)TD

Answer Key : D Your Response : D (Correct)

Question No. 83

Blood circulates from arteries to veins through microscopic vessels known as-
A)Corpuscles B)Cells
C)Capillaries D)Calories

& o tAfEr & Rt F e geer aftweit F aewer & vafte R siar 8, 378 = wer smar §?

INEZEEDLY BEIREY
$EaRcaly D)&eirr
Answer Key : C Your Response : C (Correct)

Question No. 84
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In the given figure, the circle represents married men, triangle
represents working men, and rectangle represents adult. Which region
represents married men who are also adult only?

[

A) B)
7 5
C) D)
6 2
Answer Key : A Your Response : A (Correct)

Question No. 85

The interior angle of a regular polygon is 150 degrees. The polygon is a/an:

A)Decagon B)Octagon

C)Septagon D)Dodecagon

U FAAGIS HI HidARF FIOT 150 B ¥ IF IS F ¢l

A)ceretst B)3rscetet

C)acdsat D)zarezregst

Answer Key : D Your Response : D (Correct)

Question No. 86
The difference between Compound Interest and Simple Interest on a certain sum for 2 years at 12.5% rate is
Rs.45. What is the sum?

SSC Allcke24p7 B)Rs.2000 Engineers Addaa47
C)Rs.2880 D)Rs.3000
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T fAfEd I | 125% A R ¥ 2 9§ F Thafe Ao AR AUROT AT F HR 745 ¥ 97 I A1

ffore

A)F.2440 B)%.2000

C)%.2880 D)%.3000

Answer Key : C Your Response : C (Correct)

Question No. 87

Which of the following dams has been built on the river Krishna?
A)Narmada Sagar B)Hirakud
C)Bhakra Nangal D)Nagarjuna Sagar

frfaf@e & & Fi a1 iy Foor & W) @ &

A)THET TR B)gRI$s
C)#@sT ATTel D)ATS HPR
Answer Key : D Your Response : D (Correct)

Question No. 88
What is the remainder when 72 x 92 is divided by 87
A)0 B)6
C)1 D)3

72 x 9 # 8 ¥ fANfoT = W AYFeT 4T AIM?

A)0 B)6
C)1 D)3
Answer Key : C Your Response : C (Correct)

Question No. 89

The scientific name of modern man is-

A)Homo habillis B)Homo sapiens

C)Homo neanderthalensis D)Homo erectus

YT AT ¥ AT A = §?

A)grar gfafera B)gYAT afva=a

C)grAr faustueifaa D)gHHr SFcH

Answer Key : B Your Response : B (Correct)

Question No. 90
In which of these countries were the first Asian Games held?
A)India B)China
C)South Korea D)Japan

9o TRIAE AT Fr HRASH S0 F B & F fRar R g

A)HRT B)deT
C)gfaror shifar D) STt
Answer Key : A Your Response : A (Correct)

Question No. 91
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When brake is applied in a bicycle, the brake pad touches the wheel. Now what stops the movement of the

wheel?

A)The friction between the pad and the rim B)The brake pad falls down due to gravity and stops
movement

C)The magnetic force between the pad and the rim  D)The electrostatic force between the pad and the rim

S AEfhd A 9% W Sian §, o 9% U 9 w1 T war §1 3w e @ elF ar e fr afa &=

Adem?

Atz 3R ReT & &g Fr gvor B)seh US I[ecdreh¥oT & HROT #rd FRar § 3R aife &
e &l &

C)¥s 3R RA & I = aTell YahiT o D)5 3R RA & o oarelr arelm FuRdegd oo

Answer Key : A Your Response : A (Correct)

Question No. 92
Which Indian city is also called Tatanagar?
A)Jamshedpur B)Bhilai
C)Ranchi D)Dhanbad

P ARAT MR Y TCHHR 8 Fgr ST &2

A)STHERIETY NECIE
C)T=h D)&=TeTe
Answer Key : A Your Response : Not Answered

Question No. 93
In which natural phenomenon is static electricity involved?
A)Lightning B)Rain
C)Twister D)Hail storm

e wpfF gea ¥ RARE Rega mffe &l #7

Ayafsa B)awt
C)sast D)3irer-gfse
Answer Key : A Your Response : Not Answered

Question No. 94
Product of two coprime numbers is 903. Find their LCM.
A)Cannot be determined B)903
C)301 D)39

ar IS GBI T IUTTher 903 ¥ 3T 7.9 (LCM) 1T hifarel

A)ATd 18T fRar ST Fehdr B)903
C)301 D)39
Answer Key : B Your Response : Not Answered

Question No. 95
If 0 <0 < 90°, solve for '6' where
cos20-3cos0+2=2sin?0.

A)30° B)45° )
SSC Adga247 D)60° Engineers Addaa47
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e 0 <0 <90° % ar'e Fr AT AT NAT, S8 cos2 0 - 3 cos 6 + 2 = 2 sin? 6 &l

A)30° B)45°
C)90° D)60°
Answer Key : C Your Response : C (Correct)

Question No. 96

Time taken for a joumey is 50 minutes at 48 km/h speed. What should be the speed, if the joumey time is

reduced by 10 minutes?
A)60 km/h B)80 km/h
C)42 km/h D)76 km/h

48 TFaY / €T fr O W TF IET 7 o FAT 50 BAae ¥ I Im&r 1 §87T 10 AT 7 & S, o 9

frcelr @l enfge?

A)60 fel / ger B)80 R+ / wer

C)42 fratt / der D)76 frelY / wer

Answer Key : A Your Response : A (Correct)

Question No. 97
Choose from the alternatives the figure that best completes the

pattern given below.

A

A) B)

C) D)

4

few av foeedt & ® 37 ¥l o, S A T aw dea & qu T
Gl

A

SSC Adda247 Engineers Addaa47
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4

Answer Key : D Your Response : D (Correct)

Question No. 98
A postman was retuming to the post office which was in front of him to the north. When the post office was
100 m away from him, he turned left and moved 50 m to deliver the last letter at the Shanti villa. He, then
moved in the same direction for 40 m, tumed to his right and moved 100 m. How many metres was he away

from the post office?
A)100 m B)10 m
C)90 m D)150 m

T SIRRAT SRR dlle T o7 St 3/ A SR A 3R oT| S SR 389 100 AW gy O, 9% AW e
uifr Rar 7 3faw oF 3 &F AT 50 M Tem §, B {31 AR 40 AT 3 Baw & =en, AR AT 9=
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A)100 #Hrex B)10 #rex
C)90 Hrex D)150 #Hrex
Answer Key : C Your Response : C (Correct)

Question No. 99
In universal indicators, a pH of 4 to 5 indicates-
A)Strong alkalis B)Weak acids
C)Weak alkalis D)Strong acids

ST Jaet &, 4 F 5 1 pH A w1 3T FT=ew §?

A)SE &R B)geer 3iFel
C)gder &R D)JsoT 31Fel
Answer Key : B Your Response : B (Correct)

Question No. 100
Which number will best complete the relationship given below?

Basketball : 5 :: Football : ?
A)13 B)7
C)11 D)15
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C)11 D)15

Answer Key : C Your Response : C (Correct)
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